Thursday 7th May 2020
Lesson 4 EXTENSION: reasoning & problem solving

1. [image: ]Using 5 coins, complete the part-whole model. Give 2 possible answers.







2. [image: ]Angela and Stephen both have £5 and 3p.





What combinations could Angela and Stephen have?
3. Alfie and Ella want to buy a packet of pencils. 
[image: ]




Alfie thinks they have enough money. Ella thinks they need more money. 
Who is correct? Explain how you know.
4. Ross and Francis are trying to make £3 and 70p from the money in their money box.
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Who is correct? Explain how you know.
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3. Ross and Francis are frying to make £3 and 70p from the money in their money box.

Ross uses:

Money Box
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Who is correct? Explain how you know.
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3. Ross and Francis are trying to make £3 and 70p from the money in their money box.

Ross uses:

Money Box &

Who is correct? Explain how you know.
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1a. Using 4 coins, complete the part -
whole model. Give 2 possible answers.

2a. Bobby and Debbie both have 70p.

Dalale.s

| have 4 coins.
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1b. Using 5 coins, complete the part-
whole model. Give 2 possible answers.

£1
and
80p

2b. Jenny and Chris both have 90p.

| have 5 coins.
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5a. Rebecca and Michael both have £5
and 40p.

| have three coins and
a note.

74
Rebecca

| have five coins.

Michael
What combinations could Rebecca and
Michael have?

Ps

5b. Angela and Stephen both have £5
and 3p.

Qm

Angela

I have one note and
two coins.

N
Stephen

What combinations could Angela and
Stephen have?

éa. Alfie and Ella want to buy a packet of

want to buy a bottle

4b. Harrison and Lil
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Michael Stephen
What combinations could Rebecca and What combinations could Angela and
Michael have? Stephen have?

éa. Alfie and Ella want to buy a packet of | éb. Harrison and Lily want to buy a bottle
pencils. of ketchup.

Alfie thinks they have enough money. Lily thinks they have enough money.
Ella thinks they need more money. Harrison thinks they need more money.

Who is correct? Explain how you know. Who is correct? Explain how you know.
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